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Chapter 08
(ACIDS, BASES & SALTS)

SECTION - A

Time allowed: 20 minutes Marks: 17

Note:  Section-A is compulsory. All parts of this section are to be answered on the question paper itself. It
should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Encircle the correct optioni.e. A/ B/ C/D. All parts carry equal marks.

(i) Which of the following is conjugate base?
(@) NHs (b) HsO* (c) CI (d) NHs

(i) The pKp value for agueous ammonia at 25° C is 4.8. What is the pKa value
for the ammonium ion at this temperature:
(@) -4.8 (b) 2.2 (c) 4.8 (d) 9.2

(iii) pH of 1.0 mole dm=of H, X which is only 50% dissociate is:
(@) 0 (b)1 (c) 2 (d)3

(iv) The aqueous solution of copper sulphate is acidic due to the hydrolysis of
(a) SO (b) Cu? (c)BothA & B (d) None of these

(v) The pH of 10°*mole dm™ of an aqueous solution of H2SO4 :
(@) 3.0 (b) 2.7 (c) 2.0 (d) 1.5

(vi) If Ka value is 10°° the Ky value is:
(a) 10 (b) 10 (c) 108 (d) 1010

(vii) If Ca OH):is dissolved in solution of NaOH, its solubility, as compared
to that in pure H.O

(a) Increases (b) Decreases

(c) First decreases than increases (d) Remains unaffected

(viii) The pOH of 10 molar solution of HCI in water is:
(@) 8 (b) Between 7 & 8 (c) -8 (d)6



(ix) If an acid having Ka value less than 1072 it will be:
(@) strong acid  (b) weak acid (c) moderately acidic (d) Unpredictable

(x) Which one of the following solution is buffer solution?
(@) HCI + KCI (b) HCIO4 + NaClO4
(c) H2COs + NaHCO:3 (d) H2SO4+ NH4 Cl

(xi) Which salt when added in water does not affect pH, then concentration
of H2S:

(a) increases (b) remains unchanged

(c) decreases (d) None of these

(xii) The H" ion concentration of an aqueous solution having pH 10.6 is:
(a) 2.51 x 10! mole dm (b) 5.21 x 10 mole dm®
(c) 1.25 x 10! mole dm (d) 3.21 x 10 mole dm

(xiit) Which one of the following is not a Lewis base?
(@) NF3 (b) BFs (c) NHz (d) H20

(xiv) The pKp of compound X at 25°C is 8.25. then the pKa value of its
conjugate acid will be:
(@) +6.75 (b) -6.75 (c) +5.75 (d) -5.75

(xv) pH of 0.062 M NaOH Solution is:
(a) 13.79 (b) 11.35 (c) 6.25 (d) 12.79

(xvi) What will be the pH of a Buffer if Conc. Of acid & salt are equal?
(a) Positive (b) Negative (c) Equal to pKa (d) Zero

(xvii) Which of the following compounds will produce acidic solution on
Hydrolysis?
(@) KNO3 (b) NaCl (c) NHsNOs (d) NaCN



Time allowed: 2.40 hours Total Marks: 68

Note: Answer any eleven parts from Section ‘B’ and Attempt any two questions from Section ‘C’
on the separately provided answer book. Use supplementary answer sheet i.e. Sheet-B if
required. Write your answers neatly and legibly.

SECTION - B (Marks 42)

Q.2 Attempt any Fourteen parts from the following. All parts carry equal marks.
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SECTION - C (Marks 26)
Attempt any Two Questions from the following.
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